
R;P/P/S/II/2022 Question Booklet No.

SET
Subject-PHYSICAL EDUCATION

( i).r^cb )
Paper (I (Optional)

<»iis-25

925000089

Roll No.

Subject-Code-25

31W SlJIUMiq) ̂  A
^  Candidate should write bis/her

Roll No. in the given boxes

■5!^ y<2Mi/No. of Printed Pages; 28
■?PP1/Time: 2 tpi^/Hours

^ ■^f^/TotalNo. of Questions: 100
T^yif^/Total Marks: 200

^ %Tr Pijyi ^
1. ^ ^ arA'ift Af t i 3i5Rt ■gitf *rT«rT T i
2. TtraiiT.trOgr A ^ f i Trap )-«iMi-4i t j

uO^lfeU "^TT e I AlAt ^ ^ aA.X^.3nTt^ "gftr A i h^<^i<4T
)  '3»r "snAnr 1 trityrof 3^T^3tK. y »tMi h on<i ski (cn^

raHZ" 1i<K 3iiq;f«(<tt TTrafew
( QfW«h' f<*«m )
^  3TfetT

1 MCIU WR ^ "^tTT ad^arf <»K^ Af 1clt5 ■fetA^TT X^TT I
3. arPranf f 1 ^ ^ .. . ... . . «. .^
4. XnA TRrit Ai 3T^ «hiH 6 I XnA^ Xl^ ̂ tTT % 2 3TSR usii "feA l ^ "t"'!
5. "% airaxw TIT tryr-^ftdcbi^A' bA'^_^_wtT srfetT t 1 xrAyraf 3n?w ̂  ̂  ti^-"5feraiT Ai

fAtrfRW XdsflT Af rdt '<j>Hfl ViT*t"kw<ti' MmI I
6. ti^^-Ti? (^.t^.3tr; W) Tix^Tm^Mgit 2zipr^9> TtS trar arqA^xTT ciCTRTT arf^ 9a^ I
7. ^^?t!T-TI? ( aA.T^.3nT. ?fe) tJT mlRd xqrff tTT 3lNV^.<b Ul^rU^T 3rtT X«n^ tit ̂  I
8. TiftHjfraf xnft x^ "^Td ^ "Rraffttr xmt tit 3i^i^ <»)^ xwr ^tk-tiw ( 3A.tw.3iit. rite) tit tA 1
9. Tite "fe# wx Tf "teaxA trajiT ril ritf xir namngr iraix ̂  ̂  "at ^ xrar ridrit wttexf ^f % xsmAT

rit Hii<h tiptt vtti^ I
10. ftexA traix ̂  rim tain gnfet ^ tniPi ̂ f5ia t 1
11. 3;05 ^ Tirhctr XTOM ̂  ̂  xpw aA.T^.anr. rite ^ xrlraA ^ 3i«raf ritfA 1

INSTRUCTIONS TO THE CANDIDATES
1. This Question Booklet is printed in two languages—Hindi and English. Candidates can select any one of the

two languages according to their convenience.
2. There are two papers in the State Eligibility Test. The first question paper (compulsory question paper) is

General Paper on Teaching and Research Aptitude. The second question paper is the subject select^ by the
candidate. Only one combined OMR sheet x^ll be provided for both the question papers. The Second paper of
optional subject will be given to the candidate at 1 pmi. The code ofthe second question paper subject selected
by the candidate should be marked in the OMR Sheet. The booklet number of the second question paper has
to bo marked in the necessary entries. The candidate can start second question paper at 1:05 p.m. There are
100 questions in the second question paper (optional subject). Tlie squence of these questions is 51 to 150. In
a combined O.M.R. Sheet, the candidate should mark the answers of the second question paper in the part of
Second Question Paper. The candidate himself will be responsible for marking the answer in the wrong
order.

3. All questions are compulsory.
4. All questions carry equal marks. 2 marks will be given for each correct answer. There is no provisions for

Negative Marking.
5. On the cover page the niunber ofpages is indicated in the Question Booklet. The examinee should verify that

the requisite number ofpages are attached in the Question Booklet, otherwise he/she should ask for another
Question Booklet.

6. ReadcarefiillytheinstructionsgivenontheAnswerSheet(OMRSheet) suppliedandindicateyouranswersacoordin^iy.
7. Kindly make necessary entries on the Answer Sheet (OMR Sheet) only at the places indicated and nowhere else.
8. Examinee should do all rough work on the spaces meant for rough work in the pages given in the Question

Booklet and nowhere else, not even on the Answer Sheet (OMR Sheet).
9. If there is any sort of mist^e either of printing or offactu^ nature in any question, then out of the Hindi and

English versions of the question, the Hindi version will be treated as standai'd.
10. Use of any type of calculator, log table etc. is prohibited.
11. Candidates will leave the Examination Hall only after handing over the OMR Sheet to the Invigilator at the

end of the examination at 3:05 p.m.

S/25/2022/A



chi4

w  (SPACE FOR ROUGH WORK)

S/25/2022/A



51. ^ IRT ̂

^ t ?

(A) 3rf (B)

(C) ̂  ̂ (D)

52. ^ t :

(A) MWlcHch

(B) WPTIc^

(C)

(D) "3^1^

53. aM^ sMto ^ ^

"W KIT ?

^  (A) 22 1894

(B) 23 1894

(C) 24 1894

(D) 25 ■^, 1894

54. WT "HI#! ^ ̂■■^311^ "fen
^ if ?
(A) 774 il, (B) 766 il,
(C) 776 (D) 768 i\

55. % ^lldRcb

iw ■# feRT ^ ^
^  vik1R<+ afR 1#^ ^

^dl^4)K ^ ̂  Rl^Rkl ."^ 8ft ?

(A) 1951 (B) 1952

(C) 1953 (D) 1954

{2)S/25/2022/A

51. The legacy of "Suryanamaskar" is left
behind by :

(A) Aryans (B) Buddhism
(C) Jainisms (D) Mauryans

52. The objective of Physical Education is :

(A) Affective Domain

(B) Cognitive Domain

(C) Psychomotor Domain

(D) All of the above

53. The International Olympic Committee
was formed on :

(A) 22nd June, 1894

(B) 23rd June, 1894

(C) 24th June, 1894

(D) 25th June, 1894

54. The first ancient Olympic Games were
started in the year :

(A) 774 BC (B) 766 BC

(C) 776 BC (D) 768 BC

55. The Union Ministry of Education
appointed the Central Advisory Board of
Physical Education and Recreation to
ensure planned development of Physical
Education in which year ?

(A) 1951 (B) 1952

(C) 1953 (D) 1954

1  P.T.O.



56. oqrw f

^llfntrT "^qr oiT f !
^ f^'Hch ?RT "qqr 8Tf ?

(A) 3ft. 3R^

(B.) ■^.'^. <s^6^i

(C)

(D) ^.TT^.

57. ^TT^ ^ 1^ ^ qft
qq nsq ^ ■^*

"TO STT ?

(A) 1947 (B) 1948
(C) .1950 (D) 1951

58. h;;im y^ei-i "^^1% ^ -ft*
"W STT ?

(A) 1924 sfteffw

(B) 1928 sftcfte

(C) 1932 aft^fte

(D) 1936 sft^ffq^

59. qT^ ^ilcictiiQil'i sftoiRqqi

(A) 1920 (B) 1924
(C) 1928 (D) 1932

60. ^ ̂  sftWfW 3Hld4^cjlM'
■ft HsicHlfeqT TR sftr Tft^ T^TT
^ ? ■

(A) 1968 (B) 1972
(C) 1976 (D) 1980

(2)S/25/2022/A

56. The word "Recreation" is broad enougli
to include "play", was pointed by ;

(A) Prof. Ajmer Singh

(B) G.D. Butler

(C) Brightbill and Meyer

(D) Dr. J.H. Finely

57. The Central Government's Tara Chand
Committee for Physical Education was
formed in the year :

(A) 1947 (B) 1948
(C) 1950 (D) 1951

58. The torch ceremony was introduced to
the Olympic in the year :
(A) 1924 Olympics

(B) 1928 Olympics

(C) 1932 Olympics
(D) 1936 Olympics

59. The winter Olympic Games started in
which year ?

(A) 1920 (B) 1924
(C) 1928 (D) 1932

60. The terrorists attacked and shooted the
players in an Olympic games in the year :
(A) 1968 (B) 1972

(C) 1976 (D) 1980



61. : ^ ̂ t r

(A) (B)

(C) (D)

62. <sia=h "I "%' '^TTOT

^ 1TMH "WT^ ^ 3#

^ t I

(A) (B) yWrchiH

(C) (D)

63. t I

(A)

(B)

(C) ^

(D) =hl^

64. l!,A<l[^=6 ^if^' '"^ "5^ •(hh'4

TO ^ ̂WT w a^iHsgs

t I

(A) 45 (B) 40

(C) 38 (D)- 30

65. 31^ arorhH aroiN^-

■^f ^ "qf^ t I
(A) mPw^i =hlRi^i3i1f
(B)

(C) %q^^*

(D) df»cictil

(2)S/25/2022/A

61 gland is attached to the kidney.

(A) Adrenal (B) Pituitary

(C) Thyroid (D) Hypothalamus

62. Fat is a tissue that is responsive to

metabolic signaling through hormones
called

(A) Adipokines (B) Prolactin

(C) Cortisol (D) Testosterone

63. Muscle force depends on

(A) Muscle mass

(B) Weight

(C) Body fat

(D) None of the above

64. Anaerobic power is peak power outptit in

exercise lasting or less.

(A) 45 seconds (B) 40 seconds

(C) 38 seconds (D) 30 seconds

65. In Hyppxia little oxygen reaches in :

(A) Brain cells

(B) Heart

(C) Lungs

(D) Tissues

/

P.T.O.



66. ^

^  .-^

^(iifHcM "^kn t" 1

(A) ■qieii

(B)

(C) (A) (B)

(D) ci|b4lcH<u|
I

67. "I :

(A) TTiikte (B)

(C) ■FTT^te (D)

68. ISmfera qpT f I

(A) 03 (B) 04

(C) 05 (D) 06

69. "fTRT^f^* ^ ^ "SW
TTTfil^ t I

(A) (B)

(C) P)

70. ^ if

^ t ?

(A) ^

(B) qi>^ ^ TO

(C) 011^ ^ Ri-qcni TO

(D) ZFT "Rfcf^ qiT|

(2)S/25/2022/A

66 involves the transfer of heat

from one solid material to another

through direct molecular contact.

(A) Conduction

(B) Convection

(C) Both (A) and (B)

(D) Evaporation

67. Treadmills are :

(A) Ergometer (B) Flowmeter

(C) Spirometer (D) All of these

68. A cerebrum consists of. lobes.

(A) 03 (B) 04

(C) 05 (D) 06

69. The types of muscle contraction include :

(A) Concentric (B) Static

(C) Eccentric (D) All of these '

70. In which part of the body is sartorius
muscle situated ?

(A) Thigh

(B) Upper arm

(C) Lower arm

(D) Lower leg



t ?

(A) (B) 3qT^

(C) (D)

72. "SRT^ :

(A) ̂  ̂ ^
^felT t I

(B) ^ ̂  ^
"^fecTT t" 1

(C) "^T^ ̂  ti^* Tft# ̂
f i

(D) <iM^=Kl

73. tTRtM 3T^ cHT^ "3^1^
^  ̂ ^ ̂  t:

(A) (B)

(C). sni^itdf^ . iX))

t :

^ (A) fesnfe

(B) TOR ̂  3RTTO

(C) ̂  .

(T)) :M -qr . - .

75. "^q^XtfTO ̂  "toM' 3rfM^ TS^FT

(A) ^
^ "

Trhr ^

(C) ^
(D) ^ ^

(2)S/25/2022/A

71. Who is known as father of Kinesiology ?

(A) Socrates (B) Aristotle

(C) Epicurus (D) Plato

72. Transverse plane :

(A) divides .the body into upper and
lower section

. (B) divides the body into right and left
section

(C) di^ddes the body into front and rear
section.

(D) None of the above

73. A muscle developing sufficient tension
and lengthen is called :

(A) Isometric (B) Concentric

(C) Isotonic (D) Eccentric :.

74. The specific gravity of human body in
the water depends on :

(A) Weight of displaced water

(B) Size of pond

(C) Height of body ̂

(D) SIdll of swimming

75. Insertion of Pectoralis major muscle ;

(A) Middle impression on* greater

. tubercle of humerus

(B) Highest of three impression on

greater tubercle of humerus

(C) Top of the Illiac

(D) Crest of greater tubercle of humerus

P.T.O.



.1:

-  76. ^ ^ ̂  t :

(A) ^Itettrl!

(B) ^

(C) -mz

(D)

77. "Q;^ ^

"^2^ ̂  aik "^T^dl t, "5^ -"^7?^
t:

(A)

(B)

(C) tMsq

(D) ^

78. ^ ^ t :

(A) c^iHcrl

(C) (D)

79. PiMpeiRaa dil^A^Idcb

t ?

(A) dfdi^Od ̂  ̂ T^ST

(B) Mk ̂  tnj^

(C) ^ ̂

(D) ̂  "qr "OTqr ^

80. Pi^^ieiRsia chld^l

^  ̂ p

(A) di|3u<i<^(^'nH*Ji

(B)

(C) '?Tf^ ̂

-(D) "5qj^

(2)S/25/2022/A i

76. Kypliosis is also known as :

(A) Hollow Back

(B) Round Shoulder

(C) Flat Back

(D) Lateral Curvature

77. A force which attracts all bodies towards

center of the earth is called :

(A) Gravity

(B) Counter Balance

(C) Momentum

(D) Centrifugal force

78. The junction of two bones is called :

(A) Distal (B) Couple

(C) Constraint (D) Articulation

79. Which of the following is not

kinematic ?

(A) Path of the moving object

(B) Angle of release

(C) Release velocity

(D) Force applied on the object

80. Which , of the following is an essential

phase in shot put ?

(A) Counterbalancing phase

(B) Hopping phase

(C) Thrusting phase

(D) All the above



81. I II ^

:

(a)

-^I II

Tm

4k ^

(b) (n) "OTH sSk 1^

■foriwFf

(c) sTRl-Hil-sA^b (HI) 91^^ 3^
•ycbcil

Ph^khI

(d) (TV) -

i^ll-ORqi

wPm

■3tTT :

(A) a-Iil, b-n, ol, d-IV

(B) a-in, b-n, c-IV, d-I

\ . (C) a-I, b-n, c-ni, d-IV

(D) a-IV, b-I, c-n, d-ni

{2)S/25/2022/A

81. Match the Column I with

Column n :

Column I Column II

(a) Progressive (I) Inducing

relaxation ^ deliberate

tension and

relaxation

in muscle

(b) Meditation (II) Breath and
thought

regulation

(c) Bio-feedback (DI) Monitoring
auditory' and

(d) Somatic

adjustment

visual signals

(IV) Modifying

bodily process

with cognitive

change

Answers ;

(A) a-m, b-n, c-I/d-IV

(B) a-in, b-n, c-rv, d-I

(C) a-l, .b-n, c-m, d-IV

(D) a-IV, b-I, c-n, d-m

P.T.O.



82. ^ "qRo^il

^  -^fm^ ^ SJTTcIT t, TfT

WT 3Tk ̂  ̂ ̂8? ̂  ̂ I

(A)

(B) ite

(C) ̂

(D) mn tW^Tir

83. ^ ^ ̂  ̂

"^T^- -itn, ^fif^ :

(A) '5^:"HTf^

(B) y.'Vifi'i ̂  "mmw ■5H:3#cr

(C) "S^-JTlf^^T ->

(D) -> ->

84. ^ -g^*^ WM' ^
^ ̂  W t ?

(A) "wwr^

^  cR!^ T^'

(B) ^

kf^ d<^Hlch

(G) aqiilch,

3^ WHTcW "^RPi^jR cRI^
(D) ajTzh^to) ■'tl'tiR'Ji ^

(2)S/25/2022/A 8

82 ; is the ability to bring about
some end result with maximum outlay of

energy or of time and energy.

(A) Skill

(B) Motor Learning

(C) Motor Educability

(D) Goal Setting

83. Choose the correct order of main stages
of memory :

(A) Encoding —> Retrieval Storage

(B) Encoding —>■ Storage —> Retrieval

(C) Retrieval —> Encoding —> Storage

(D) Storage —> Retrieval —> Encoding

84. According to Cratty, what is the correct
sequence of anxiety management
techniques ?

(A) Costive adjustment methods.
Visualization method and
Biofeedback

(B) Visualization method, Autogenic
training-and Somatic techniques

(0) Somatic techmques. Visualization
methods and Cogmtive adjustment
methods

(B) Autogenic training, Centering and
Biofeedback



qmra^' ̂  ^ :

(a)

(b) ̂

(c)

(d)

Iacil"4cf)

(I) ^di,

■^,

(H)

fmw, aiHi,

(ni) WTT,

cTTcTOI

(rV)-5R™, ^5f^,

■iTt< :

(A) a-ni, b-IV, c-I, d-n

(B) a-m, b-rv, c-II, d-I

(C) a-m, b-I, c-IV, d-n

(D) a-IV, b-I, c-n, d-m

(2)S/25/2022/A

85. Match the Column of Primary emotion

with Column of Secondary emotion :

Primary

(a) Love

(b) Joy

(c) Anger

(d) Sadness

Answers :

Secondary

(I) Irritation,

exaspiration,

rage, disgust,

envy, torment

(II) Suffering,

Sadness,

Disappoint

ment, Neglect,

Shame

(HI) Affection, Lust,

Longing

(IV) Cheerfulness,

zest, pride,

contentment,

optimism,

relief

(A) a-m, b-IV, c-I, d-II

■(B) a-m, b-IV, c-II, d-I

(C) a-m, b-I, c-rv, d-n

(D) a-rv, b-I, c-n, d-m

P.T.O.



86. ^ ^ ^

wqm "RRf ̂  t, ̂

t I

(A) HchKkMcil "^SOTOT
/

(B) 37T^
f

(C) "-H^KIcM^ ^HIcKui

(D) cie^ WTOT

87. M^HRrldl wiW felT

w mRc^uiI ocean ̂  ̂

^  twifer fer ^TTcTT t ̂  w ̂

^3n?TT "I" :

(A) <^QllHi, vic*3it=dcll, "Rr^OT,

HcbKkHchdl

(B) -^aii^ «sife^^ai, Hielei,

(C) ^5cW, ̂ ETT^,

88.

(D) <^01141, qidoqPi^i, qR^<2icii,

WTdcTT,

<lRiql ^ 1¥dT ^ RlSti^

^ feTO; ij,-s^-s "SKI

Pi^RnRan "f^rR "d^RTNr

^ 7

(A) 3RIM^

(B) ̂ qtfe

(C) #T

(D)

(2)S/25/2022/A 1

86. When someone's response to a new

stimulus is added in same way by his

prior experience in a task or skill, this is

called :

(A) Negative Transfer

(B) Habit Interference

(C) Positive Transfer

(D) Neutral Transfer

87. The acronym OCEAN used in Big Five

Personality traits, when expended
correctly read as follows :

(A) Open-heartedness, Concientious-

ness, Excellence, Absoluteness,

Negativity

(B) Observability, Consciousness,

Extroversion, Ambience, Nobility

(C) Outreach, Compatibility,

Excitement, Ambience, Nobility

(D) Opermess, Conscientiousness,

Extraversion, Agreeableness,

Neuroticism

88. Which of the following techniques was

invented by Dr. Edmond Jacobson to

help patients cope with somatic anxiety ?

(A) Progressive relaxation

(B) Yogic relaxation •

(C) Zen meditation

(D) Desensitization

0



89. (U) ^

^  t 1

(A)

(B) cHT^

(C) ̂

(D) 3TT9[OTKn

90. mhI^^iR^T arrw^

<mii\i\ ^ "TO

;

(A) 13^*

(B) "Q;^* "^f^,

(C) 31^

(D)

91. ^ ci|ii.l(H.^.T3;. 3W r4iF=l?hei

WHT 1^ ̂  sik

^ T^it 2ft ?

(A) 1920, ?ft 1^

(B) 1922, -^ '^. #1^

(C) 1920, tft "aft

(D) 1921, ftt. TTiT. "sftftqi

(2)S/25/2022/A

89. The inverted-U theory explains the

relationship between performance

and

(A) Arousal

(B) Stress

(C) Tension

(D) Aggression

90. Name the techniques employed by

psychologists to assess personality :

(A) Observation and interviews

(B) Paper and pencil, questionnaires

(self-report)

(C) Projective tests

(D) All the above

91. In which year and by whom was the

Y.M.C.A. College of Physical Education

founded in India ?

(A) 1920, Shri Karan Singh

(B) 1922, Luther H. Gulick

(C) 1920, Harry Crowe Buck

(D) 1921, Dr. P.M. Joseph

11 P.T.O.



92. rHMPdRsId ^ wt :

3T ^

(i) (a) 1956

'qiRn-H-i. W

(ii) (b) 1987 TOfqw

■ferr "w

(iii) (c) 1957 Tsiffef

^  7p7[

(iv) ff^ (d) 1914 ^fsirfw

^yiKlRcb 7M

[cj^H

Isrefl

W-

(i) (ii) (iii) (iv) '

(A) (b) (c) (d) (a)

(B) (c) (d) (b) (a)

(C) (a) (b) (d) (c)

(D) (c) (d) (a) (b)

93. •^* %SJ[ -q^ -qSTT]

^  ttI gfl 7

(A) 1968 "q;^* 1986

(B) ^ 1951 11^' 1975

(C) ^ 1961 T3^* 1980

(D) ^ 1962 T3^* 1982 ■4"

92. Match the following :

A

(i) LNIPE,

Gwalior

(ii) HVPM,

Amravati

(a

B

) Created in

1956

(b) Established in

1987

93.

(iii) Central Health (c) Established in

Education Bureau 1957

(iv) Indira Gandhi (d) Established in

Institute of 1914

Physical Education

and Sports Sciences,

New Delhi

Codes :

(i) (ii) (iii) (iv)

(A) (b) (c) (d) (a)

(B) (c) (d) (b) (a)
(C) (a) (b) (d) (c)

(D) (c) (d) (a) (b)

In which year the First and Second

National Policy on Education were
formulated in India ?

(A) In the year 1968 and 1986

(B) In the year 1951 and 1975

(C) In the year 1961 and 1980

(D) In the year 1962 and 1982

(2)S/25/2022/A 12



94. "5^^

l^-m ■yVi'A ^lil ■H<\'il '^*
w w «^T ?

(A) ^ 2001 "4*
(B) ^ 1982

(C) ^ 2011
(D) ^ 1984

95. "^* ^
^  137T s^T ?

(A) 1923 (B) 1927

(C) 1931 (D) 1935

96. TH^iR Pl^hN ^ '^*
Tl^ 2fTS2TTW "^riW fe?
^ 3;TfeR^ ?

(A) 1 1995

(B) 17 3TTO, 1995

(C) 1 srfe, 1993
(D) 5 PHdWI, 1993

97. 1956 ■^" ^ Wtft^F f^ajT ir^'
■FH^H ^ Ti^ fel^ cl^ ^
aft ?

(A) 1%8jr
(B) aw

(C) H^M'4

(D) tpfhr^R

(2)S/25/2022/A 13

94. When was a resolution on the National

Sports Policy was formulated and laid in
both Houses of Parliament with the

objective of raising the Standards of
Sports in India ;

(A) In the year 2001

(B) In the year 1982

(C) In the year 2011

(D) In the year 1984

95. In which year first world university
games were launched ?

(A) 1923 (B) 1927

(C) 1931 (D) 1935

96. On which date the National Council for
Teacher Education as a statutory body of
Government of India came into
existence ?

(A) I January, 1995

(B) 17 August, 1995

(C) 1 April, 1993

(D) 5 September, 1993

97. In the year 1956 who prepared a national
plan of physical education and recreation
in India ?

(A) The Central Advisory Board of
Education

(B) Y.M.C.A. College of Physical
Education

(C) Ministry of Education and Culture
(D) The Central Advisory Board of

Physical Education and Recreation

P.T.O.



98. 2020 ^

(A) 04

(C) 06

(B) 05

(D) 08

99. t^ajT "^' JJuikHc+i ^

37k OT ̂  3Tk

^ ̂̂I4dl 3fk ^ tg w

StRT 1961 k' "f^RT "^^RTxf

^ "FTOT ^ sft ?

(A) WTR

(B) TR^ 3TgR?7FT 3fk

(C) ktor R^* R^IRRT WqR

(D) 3T¥?qmT -qf^

100. ktfn, 2020 ^ 37^

fen^Rfhr kf RTHi"/^ 10+2

fF#Tfeci ̂ f "k Rfcl^ 373RR

R#T Rklfw afR RIH^^ WxJHi ̂  -^ar

"k^tecT "f^RTT -3111^^411 7

(A) 4+3+3+2 (B) 5+3+3+4

(C) 5+2+3+2 (D) 5+3+2+2

(2)S/25/2022/A 14

98. How many National Curriculum

Frameworks are aimed to be devised in

the National Education Policy, 2020 ?

(A) 04 (B) 05

(C) 06 (D) 08

99. Which autonomous organisation was set

up in year 1961 by the government of

India to assist and advise the central and

state governments on policies and

programmes for qualitative improvement

in School Education ?

(A) National Institute of Education

(B) National Council of Educational

Research and Training

(C) National Institute of Educational

Planning and Administration

(D) National Council for Teacher

Education

100. According to National Education Policy,

2020 the old/previous 10+2 structure in

School Education will be modified with

new pedagogical and curricular structures

as which of the following pattem ?

(A) 4+3+3+2 (B) 5+3+3+4

(C) 5+2+3+2 (D) 5+3+2+2



101. ^ 37^^ ■^TFRTT
^  t ?

(A) #^*
(B) ^ ̂
(C) ^ ̂  ^l4c^l^1 ^ "^' HMfoFn

ch<HI

(D)

102. "4" ^l4shM ^
t^:
(A) ^ 'Hlc['^Pl'=ti 3^ ohI^'ICI

w^s^T ^ "sn^ wn

(B) filWl ^ 3T^ 3^ <6 A
c(7t ^Rd ch<dl

(C) feJTOT '^* WF-WT|

(D)

103. ^ HHcflq -nfdMFTf ^ "qPT ^cTT?^
■qOT "qf «nMlRqT f :
(A) STT^ m srfBOTW
(B) ^ ■^* "qfMq
(C) 3TfM^
(D) <iM^dd

104. "q^t ^ 37iqWKfT
.  t. :

(A) "3^ 3?R 7^
(B) sfk
(C) sik ^
(D) ^ sfiT arrcFT -q^

(2)S/25/2022/A

101. According to J.E. Park, which one is not
the objective of health education ?

(A) Informing people

(B) Motivating people

(C) Guiding into action

(D) Judging the people

102. Purpose of health programme in school
is :

(A) To convey the child about public
and personal health ideal

(B) To inspire the child with a desire to
be well and happy

(C) To maintain adequate sanitation in
the school

(D) All of the above

103. Name of the human activities that have
led to the spread of new diseases :

(A) Encroachment on wildlife habitats
(B) Changes in agriculture
(C) Uncontrolled urbanisation

(D) All of the above

104. Quantity of food requirement by body
does not depend on :

.  (A) Age and Sex

(B) Height and Build

(C) Mood and Taste
(D) Work and Rest

15 P.T.O.



105. ^1-1-HI ^ f 7

(A) ̂ ik ̂  ̂tcT

(B) ^ "S^il^cl

(C) ?Tk wn

(D) #7 tTT?^

106. W ̂  ̂ W t ?

(A) irfl^

(B) ^IIhjkM TT^

(C) "Q^

(D) xrk^ fTT

107. <iH'4kl iTqcTt^* ̂

^TRIT "t" :

(A)

(B) 13^ ^

(C) kBm ̂  1^

(D) ̂  ̂ "Mw -5^ %T

108. -ferkH 'K' ^RcIT t :

(A) <<K1 ^ =RT^ k*

(B) ^ ■R^\^ k*

(C) ^ k

(D) TcR ^ k*

105. Which one is not the component of noise
pollution ?

(A) Source of noise

(B) Object affected by noise

(C) Dream of noise

(D) Medium of noise

106. Full form of "WADA" is :

(A) Women and Daughter Association

(B) World Anti Doping Agency

(C) Washington Anti Doping Agency

(D) World Amature Drugs Association

107. Narcotic drugs are used by athletes

as :

(A) Painkillers

(B) Energy booster

(C) Weight maintainer

(D) Hunger controller

108. Vitamin 'K' helps in :

(A) Blood Clotting

(B) Muscle Strengthening

(C) Muscle Contraction

(D) Maintaining Water Level

(2)S/25/2022/A 16



109. 3;?^^ Hldim

"^.T^R.^irf. 3ife) "^iT t" ?

(A) 30 (B) 35

(C) 32 (D) 31

110.

^ teRT ̂  t ?

(A) Rd^4^1 (^)

(B) «TFT #1T

(C) ylrHI^H CSW)

(D) cm

111. 3rf^8jTjr Rsicril^l ^

ij^cti ^PiMi'O fl<l'=tii ^ I" ^TF "hR^i^i
^  t ' ?

(A) AalqRiq (B) "^Tlfe

(C) ft (D)

112. "STOT 3lfWF clWT

(A) 25-30% (B) 30-40%

(C) 40-50% (D) 50-60%

113. ^ ^Fef

t ?

(A) ̂  wm

(B) ̂  W

(C) 31^

(D) als^oi

109. As per W.H.O. adults obesity is BMI

greater than or equal to :

(A) 30 (B) 35

(C) 32 (D) 31

110. Following among the given is not the

principle of health education :

(A) Interest

(B) Participation

(C) Motivation

(D) Symptoms

111. "Sports training is the basic form of

preparation of sportsmen.". This

definition is given by whom ?

(A) Matwejew (B) Martin

(C) Harre (D) Mathew

112. In extensive interval training method the

intensity approximately should be :

(A) 25-30% (B) 30-40%

(C) . 40-50% (D) 50-60%

113. Rest period between two sprints is an

example of :

(A) Load density

(B) Load volume

(C) Movement duration

(D) Movement intensity

(2)S/25/2022/A 17 P.T.O.



114. ylfy^^r^ci

t :

(A) ^ (B) el-41^HH ^

(C) (D)

115. PHHreiRsicl ^ ̂  t ?

(A) ̂ TR ^Hcll

(B) 31^

(C) 31^ ^ ̂ ̂

(D)

116. 3rf^9iPJT ^ Wmfl^ ^

=h5eiiai "I ?

(A) ^ (B) -M ̂

(C) ^ (D) -to ̂

117. rHHPelRslcl -^f ^

wrf^ t ?

(A) ̂  ■^' ^
(B) ^

(C) 41-qi Mscfsl

(D) -STJ^

118. RHRriPsld ^ ^FRIT t ?

(A) ^TOT)

(B) ^ ^TRcTT (^iRiciH ^TOT)

(C)

(D)

114. Proprioceptive neuromuscular facilitation
technique is associated with:

(A) Strength (B) Flexibility

(C) Speed (D) Endurance

115. Which one of the following is a talent
indicator ?

(A) Ability to tolerate load

(B) Performance stability

(C) Rate of increase in performance

(D) All of the above

116. Which training cycle is also called
weekly cycle ?

(A) Mini cycle (B) Meso cycle

(C) Micro cycle (D) Macro cycle

117. Which of the following is a somatic
functional symptom of overload ?

(A) Loss of appetite

(B) Loss of sleep

(C) Disturbance of digestion

(D) All of the above

118. Which of the following is the co-
ordinative ability ?

(A) Movement ability

(B) Locomotor abilify

(C) Acceleration ability

(D) Coupling ability

(2)S/25/2022/A 18



119. ^ <unl[d ̂  ^
t I

(A) (B)

(C) (D)

120. mIR-hs ^ I" :
(A) R«=hc|<l

(B)

(C)

(D) 31^ ̂  IwtoTJT

121. ̂  WK ̂  3i5^T?iTH ^ arszm
crxn yTPT^ TJc^TT^ "^fer
MRMdHl^ilf ̂  oZTRFTT "I^ f^
t ?

(A)

(B) 3T^'«IFT

(C) yi'NlPl<=b"

(D) ̂

122. RlMRiRiRsld "^* "^fpTH Wl" t ?

(I) ^ 3Pftn ̂  ̂ W t
^<01 "I"

(II) 31lf^ ̂  Trim ^ WT t
^jTcTT t

(IB) 31% ̂  ̂ WT t

Ri=t>c^ ^ :

(A) ̂ cicri (I) "t

(B) chqd (II) sffT (in) ■?
(C) (U) % t ■
(D) =^<=101 (I) (m)

(2)S/25/2022/A

119.

120.

121.

122.

19

is the actual realisation of
strategy in practice,
(A) Skill (B) Tactics
(C) Technique (D) Style

Transitional period aims at :
(A) Recovery

(B) Recreation
(C) Supercompensation
(D) Stabilization of performance

Which type of research involves indepth
study and evaluation of valuable
information in an attempt to explain the
complex phenomena ?
(A) Analytical Research
(B) Descriptive Research
(C) Experimental Research
(D) Case Study

Which of the folllowing is correct ?
(I) Independent variable is the part of

experiment that the researcher is
manipulating

(II) Dependent variable is the part of
experiment that the researcher is
manipulating

(HI) Treatment variable is the part of
experiment that the researcher is
manipulating.

Select the correct code :

(A) Only (I) is correct
(B) Only (n) and (III) are correct
(C) Only (H) is correct
(D) Only (I) and (III) are correct

P.T.O.



123. 40 ± 2.5 A 35 ̂  Z-^

(A) -2 3k 70

(B) 2 sk 40

(C) -2 3k 30

(D) 2 3k 60

124. "^rf^ ^ITTTRT ̂  ̂ ̂  100%

t, eft 11 - 2ct 3k h + 2(7 ̂  iWft

37TQ7ft ?

(A) 94.55%

(C) 99.73%

(B) 95.44%

(D) 95.73%

125. k %TT

Pi^^RiRaei qfkmt Wl" "=1^

t ?

(A) 3icj(vjlcbH ^

(B) ̂  311^ k WT M

(C) 3l^eft^ WTRT ^

37HT^ ̂  1^ ̂

(D) 3Tszm k ̂  ̂ Mr ̂

123. If mean is 40 + 2.5, what will be the

Z-score and T-score of 35 ?

(A) -2 and 70

(B) 2 and 40

(C) -2 and 30

(D) 2 and 60

124. If total area of normal curve is 100%,

then how much population will come

between n - 2ct to n + 2a ?

(A) 94.55% (B) 95.44%

(C) 99.73% (D) 95.73%

125. Which of the following is not a correct

assumption for parametric statistical
s

test ?

(A) Observation should be independent

(B) Variance for all the population must

be same

(C) Sample observation must be drawn

from the normally distributed

population

(D) Variable under study is continuous

{2)S/25/2022/A 20



126. ^ ?

(I)' MchK-I "^" 37^T^ MRc^i^rMIl

Slt<^1chK ^ "Rf^fT '^Idl t" ''ictfqi

ciKKlci "^f WT t" I

(H) wK-n ife ■^* 37^ ^

%

■^* 4 I

(HI) yctiK-I cti<A ^PTTOT
■qilW ^ ^ «THT ^

f  i

■Hft Ri^crM :

(A) (T) 3fk (HI) ̂  f

XB) © 4?: (U) ̂  f

(C) ©, (© 35k (IE)

©) ©) 3fk (m) t

127. ^ ^ 3ifer I^Rik*

■qEw ■SR^sjf <i4^ckidl, Sik
1^ t,

f :

(A) ^

©) diPddil

(C) TR

©)

(2)S/25/2022/A
■a

126. Which of the following is correct ?

(I) In type I error null hypothesis is

rejected when it is actually true.

©) In type II error null hypothesis is

accepted when it is actually false.

(HI) The probability of not committing

type-I error is known as power of

test.

Select the correct option :

(A) Only © and (I© are correct

©) Only © and ©) are correct

(C) AH ©, (n) and (HI) are correct

©) Only.(n) and (IE) are correct

127. The process of analyzing knowledge test
in which the suitability of test items

difficulty and discrimination is evaluated,
is known as :

(A) Error Analysis

©) Difficulty Analysis

(C) Item Analysis

©) Item Discrimination

21 P.T.O.



128. iHHRriRsid ^ t ?

(I) ^ : -q^

(II) 3qfefe ^ ̂ MWlpj|chdl

I

fq^^TH "q^T =tjlRin< ;

(A) ̂ qtn (I) f

(B)' (II) ̂  t

(C) ■^' (I) 37k (U) ^ f
(D) (I) 3fk (n) f

129. 3T3^f?7R yqlq^df
^ wrte "k* fe ■qjT^
■qfl" "qiM t" ^JiqRh 37^ ?t1" 37fdfw

•% -fen it "scrt
Piq'Ra "I, qi^etiai "I :

(A) 37?$-y-HVucH<7i f^Mjl^H

(B)

(C) qiiqltK yqlqirHch

(D) ""jpf fs'3ii^d

130. yfdOHH sk -q;^ (ANOVA) -qrr trqi-
if*5H ^ THlRsqqilq ^

1^ 37Tf^ ^
i, qi^eiiai t" :
(A)

(B)

■(C)

(D) ^ "gfwpT

128. Which of the following is correct ?

(I) External Criticism : Establishing
that source is credible.

(II) Internal criticism : Establishing the
authenticity of the source.

Select the correct options :

(A) Only (I) is correct •

(B) Only (n) is correct

(C) Both (I) and (II) are correct

(D) Both (I) and (II) are incorrect

129. Research design in which the

experimenter tries to fit the design to real
world setting while still controlling as
many of the threats to the internal
validity as possible, is known as :

(A) Quasi-experimental design

(B) True experimental design .

(C) Ex-post facto experimental design

(D) Total experimental design

130. A combination of regression and ANO'VA
that statistically adjusts the dependent
variable for some distractor variable is

called :

(A) One-way ANOVA

(B) Two-way ANOVA

(C) Covariate

(D) Multiple regression

(2)S/25/2022/A 22



131. [HHFdfelci ^

TOT t ?

(i) ^ ̂

(ii)

(iii) ^

(iv) ?TH^

(v) AfeRri "TO "5^

(A) (iv), (v) 4k (ii)

(B) (ii), (iv) 4K(i)

(C) (i), (iii) 3fk (iv)

(D) (ii), (V) 4k (i)

132. "Pfel tKS "fet
felA fte f i

(A) ̂  (B)

(C) mN (D) sn^T

133. H<1 ^iH-Mij't Pi^^RiRaa
"Af ^ Rnu. Rhyi '311(11 ?
(i) "Atww 4" R^Ri 4

1^
(ii) ■sfk fqctiHH ^ 4

(iii) WK52T "qi M*iic| "qiT ^TkA

(iv) ^ ("#6(21^)
"qirA 4' Rim,

W *
(A) (i), (iii) 3ik (ii)
(B) (iv), (iii) »ik (ii)
(C) (i), (iii) ak (iv)
(D) (ii), (iv) ^ (i)

(2)S/25/2022/A 23

131. Which of the following test items made
up the Barrow Motor Ability Test ?
(i) Standing Broad Jump
(ii) Zig-zag Run

(iii) Hurdle Race

(iv) Shuttle Run

(v) Medicine Ball Put
Code :

(A) (iv), (v) and (ii)
(B) (ii), (iv) and (i)
(C) (i), (iii) and (iv)
(D) (ii), (v) and (i)

132. How many motors stunts does the
Metheny-JohnSon Motor Educability Test
Battery consist of ?
(A) Four (B) Six
(C) Five p) Eight

133. Kinathropometric tests are used for
which of the following purpose ?

(i) To study nutritional status

(ii) To study growth and development

(iii) To study effect on healthy

(iv) To determine body form
(sometotyping)

Code :

(A) (i), (iii) and (ii)

(B) (iv), (iii) and (ii)

(C) (i), (iii) and (iv)

(D) (ii)= (iv) and (i)

P.T.O.



134. ^ Tfl

-  ̂ "q%w ̂  WT ̂Ftf^ :

(A) "^T^ "q^OT

(B) "SiT^-'t^ "q^^

(C) ^ fe

(D) fq^%q ̂  JCR "q^^

135. Bq" "q^^nqf "qft q^-dn "qftf^ f^rrt'

^  ̂ t :

(i) fe 1m ̂ 'ST

(ii) im ̂ *sq -fe

(iii) 3iri -fe

(iv) ̂  Rfar

(A) (iii) cr8?T (ii)

(B) (iv), (iii) (ii)

(C) (i), (iv) TTs^T (ii)

(D) (iv)cI?^T(i)

136. "f^TRfefecI cbld-Hl

WiYite "qll^ t ?

(A) ̂  -q^ a^^qRT -q^i^

(B) didife-m "qtNrq

(C) -qtw

(D) fqiRildJvi rqi-iA-ti

134. Select the test referred to as the

minimum strength test item the list

below ;

(A) Gross Max Test

(B) Kraus-Weber Test

(C) Harvard Step Test

(D) Phillip's JCR Test

135. Identity the test items which comprise

the Roger's Strength Test Battery ;

(i) Hand Grip Strength Test

(ii) Leg Strength Test

(iii) Arm Strength Test

(iv) Back Strength Test

Codes :

(A) (iii) and (ii)

(B) (iv), (iii) and (ii)

(C) (i), (iv) and (ii)

(D) (iv) and (i)

136. Which of the following is the

cardiovascular endurance test ?

(A) Tuttle Pulse Ratio Test

(B) Canadian Test

(C) Metheny-Johnson Test

(D) National Physical Fitness Test
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137. ^ ^ fpqW iRf

■TFTT 21T ?

(A) -^sfFRTT (B)

(C) ^ (D)

138. 1^

?it ^ %3; STFTcn^ t :

(i) 15" X 15" (ii) 40" x 25"

(iii) 15" X 30" (iv) 40" x 60"

(v) 20" X 10"

W •

(A) (iii), (v) 3ffT (ii)

(B) (iv), (iii) 3fk (ii)

(C) (i), (iv) 3|k (ii)

(D) (v), (ii) 3fk (iv)

139. fWvrfW ^

t ?

(A) "felH

(B) wfe *^l-s

(C) 4, 6 3fh: 8 '% ^

(D) ™

{2)S/25/2022/A 25

137. Harvard Step Test was constructed

by:

(A) Johnson (B) Cornish

(C) Brouha (D) Brady

138. The rectangular target sizes for Johnson

Basketball throw for accuracy test are :

(i) 15" X 15" (ii) 40" x 25"

(iii) 15" X 30" (iv) 40" X 60"

(v) 20" X 10"

Codes :

(A) (iii), (v) and (ii)

(B) (iv), (iii) and (ii)

(C) (i), (iv) and (ii)

(D) (v), (ii) andXiv)

139. Which of the following is the

coordination test ?

(A) Spirit Test

(B) Scott Obstacle Race Test

(C) Distance test for 4, 6 and 8 seconds

(D) Bass Stick Test

P.T.O.



140. Hr iron

t ?

(A) -qte alk

(B) ̂  aSk ^km<ij.chh^Xh

(C) % afk ̂

(D) ̂

141. "RM ̂  ̂ ^rkrat

TT^RTjnf ar^iriTR t ?

(A) XR^M^ ̂ .^mIRi"^ "^kpTT «NHHI

(B) Tn5T^5HkT "SiR^TklR ^

(C) XR^iNhr ^*<^Hi afk Tif^

(D) ^RcTT a^ ̂rd^^V:jfrHch

142. afk 7^ "r^'^h

t ?

(A) aTR|f^ , (B)

(C) ̂  (D) aikfer

143. aTR^ arf^RH^ arfq^jK RcrirII^ci rot

t  a^q^ Rra v^

t I RF ^ RH ̂  ̂ t ?

(A) arfRRTOTRi^ (B) an^

(C) (D) ai^E^

140. Brize up test measures the flexibility

of:

(A) Back and Leg

(B) Spine and its hyperextension

(C) Spine and Leg

(D) Back

141. Which one is the key concept to achieve

strategic management ?

(A) Making a fiscal strategic plan

(B) Fulfilling the fiscal responsibility

(C) Fiscal structure and the budgetry
process

(D) Distinctive competence and

competitive advantage

142. Which country is the birthplace of

modem sport and sports management ?

(A) Australia (B) England

(C) Russia (D) U.S.A.

143. The leader delegates much of his/her

authority but retains total responsibility,

is which type of leader ?

(A) Authoritarian (B) Ideal

(C) Democratic (D) Laissez-Faire
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144. ^ ^ ̂ t ?

(A)

(B)

(C) '^'

(D)

145. SWOT ̂  ̂  t ?

(A) 31^ -Q^* -^m

(B) ?lte, 31^

(C) 31^ tr^* Tlf^OT

(D) ^FFshftqf, 3T^ -q^*

146. Wffe ^

"^f "SIHT t ?

(A) 1kWR)

(B) Wftfn ̂

(C) <'JHird 1^^^^

(D)

147. "OT^ ^ #T ^

t ?

(A) sm^K, ^ Mf^

(B) ddlpci'dd 3k iE^

(C) "^rto 3k

(D) 3k TTk^R
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144. What does sometimes leading means ?

(A) Communication Skills

(B) Innovation

(C) Teamwork

(D) Deciding

145. SWOT stands for :

(A) Strength, Weaknesses, Opportunities

and Test

(B) Strength, We^esses, Opportuntieis

and Threats

(C)- Strength, Weaknesses, Opportunties

and Training

(D) Strength, Weaknesses, Opportunities

and Treatment

146. What is the first stage in the strategic

management process called ?

(A) Strategy Direction

(B) Strategy Formulation

(C) Strategy Analysis

(D) Strategy Evaluation

147. Which three functions are the broad

functions of media in a society ?

(A) Newspaepr, Radio and Television

(B) Radio, Television and Internet

(C) Newspaper, Magazines and Radio

(D) Information, Education and

Entertainment

P.T.O.



148. PinRiRaa chln^i

^  t ?

(A) ^

(B) yliJilHJi 3Tk "M#

(C) -TO 3lk ylyiPH^i

(D) ^ srk *TfEpT

149. "f^^rffer nlfd^T ^ ̂«7 3fcR-"felTOT

iiWd ^ qiKiI^ch ^H-clldH ^

^ 3Tfe ^ t ?

(A) aTfer^

(B) smik^ ̂ iMt

(C) ttrIR^

'  (D) TTHFf

150. Pi-hI^sH y[^-MI -q^ ̂EpiJT ^ t ?

(A) ^

(B) ̂ ^krm ^52HT

(C) ^ H5"^H

(D) i^ir^fchH

148. Which one among the following options

is arranged in proper sequence ?

(A) Budgeting, Planning and

Procurement

(B) Planning, Programming and

Budgeting System

(C) Planning, Budgeting and

Programming

(D) Planning, Procurement and

Programming

149. Who is more directly concerned with the

actual operations of Inter School

Atheletic Tournament with the stipulated

policies ?

(A) Administrative Officer

(B) Organising Committee

(C) Physical Education Teacher

(D) The Principal

150. The first step in plaiming process is :

(A) Determination of objectives

(B) Resource Mobilization

(C) Constraint Identification

(D) Evaluation of Alternatives
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